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1. For the following graph, what value did 2. For the following graph, what value did
the student obtain for "absolute zero"? the student obtain for "absolute zero"?

Ll
wr

maC Ry \::H

RS QRS :

1

0K ) =3

UD Kelvs
_/

Bicaanan o

| g [ " T 1
INSENEEEEEE = B IREmE

a. 1 atm

SRR A
What temperature is Absolute Zero supposed to always be? () kelvins jor = °C
What special thing happens to matter at Absolute Zero? i

Which of the following is not standard pressure?

— S
b. 740 mm Hg J c. 101.3 kPa d. 101300
SR

Pa e. none ’

which all vibration (“The Dance™) stops is (circleone.gr morel choices)

7.

If this manometer and box contained 2x10? atoms of helium and

then you added another 2x102 atoms of helium, the height of liquid
shown by “h” would

a.  decrease

b. stay the same

oy So.me e preciure, Puthes
If the picture of this manometer and box was taken in a room in
Madison (clevation 800 feet) but the box was later moved to Boulder,
Colorado (useful elevation data is at the top of this page...) the height
of liquid shown by “h” would
a. decrease
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9. Write these labels into the apprropriate boxes
of the diagram to the left:

® the atmosphere presses here
® pure mercury liquid
® vacuum

10. The distance from A to B is

@inglcss and useless
b. always 760 millimeters long at sea level on
an average day
11. The distance from B to C is
a. meaningless and useless
¢~ b. always 760 millimeters long at sea level on
s amiverage day
12. The distance from C to D is
< a.__meapingless and useless
b. always 760 millimeters long at sea level on

an average day ;
”\ 3)  ..ifthe weather b) ..ifabqudofless |[o Jif instead of a d)  ...af the tube were
PESUAR caused a low density were vacuum there was 1 open at the top
pressure system in substituted for the srmall amount of air instead of closed
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14. If this manometer is in a room that is at standard ure, and “h” is 7.0 millimeters of mercury the
pressure of the gas inside the square box is _ﬁm\b

15. If gas in this box is at a pressure of 751 t the height of the my shown byt his 13 mm , th
’ ambientpressuminthcmommnstbcjzng_@ 75( = ii‘\'lyf

f this manometer and box are in a room in Madison {elevation 800 feet) and they are moved to

Poughkeepsie, New York (elevation 60 feet) the height of liquid shown by “h” would

a. decrease -

b. staythesame \
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16. If this manometer and box contained 30 mL. of gas at standard temperature and then the temperature of
e wese.changed to 250 kelvins, the height of liquid shownby“\h” w?ld
= Hondovel FHovperate 1s 273K
b. stay the same
. incresse The chonse was 273K 250K, (older,

17. If this manometer and box contained 5x102 atom3 of helium and then you added another 2x102 atoms

of helium, the height of liquid shown by “h” would
b.  stay the same

c. increase
18. Convert 652.5 mmHg (lowest pressure ever recorded at sea level—inside Typhoon Tip) to
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16. A sealed-tube manometer as shown below, left, has a complete vacuum. The liquid mercury
levels in both arms of the U-tube are equal. Ifa gas sample is introduced into the round flask,

the mercury levels are different, as shown on the right.

The difference h is the measure of the pressure of the gas inside the flask. Ifhis equal to 6.5 Pur )

cm,calculatetheprcssurcmtheﬂaskmd:efollowmgnmts 6 Cya = égMﬁé’m\hh‘{*ﬁ:
a. mmHg c. two $19 £i4f
0+65: X @5{’01‘# |°|'500 fa 8"00 ?a
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b. torr d. atmospheres
65 torr 5P+°W o C“L”‘> 5 0.086“*'“
60 forl
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& A diagram for an open tube manometer
is shown in Figure A; the flask is open
to the atmosphere, the mercury levels
are cqual. In Figure B, a gas is now
contained in the flask. Calculate the
pressure in the flask in the four units

Atmosphere (760, torr)

b. torr d. atmospheres ‘

_given below. Al
a. mmHg c. pascals
Feo= 1B + X L{Q_Torr anooﬂl 3
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A quantity of gas
exerts a pressure of

98.6 kPa at a at+
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A quantity of gas
exerts a pressure of we
98.6 kPaata P(QS \

“\86(«& csll .88,
&ec@oﬁ?T " kP

For qay P roglems.

The pressure in an 1:&
automobile tire is

new pressure be?




